
https://www.passapply.com/c2090-730.html
2024 Latest passapply C2090-730 PDF and VCE dumps Download

 

 

 

C2090-730Q&As

DB2 9 Family Fundamentals

Pass IBM C2090-730 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c2090-730.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2090-730 PDF Dumps | C2090-730 Study Guide | C2090-730 Exam Questions                                1 / 3

https://www.passapply.com/c2090-730.html
https://www.passapply.com/c2090-730.html
https://www.passapply.com/c2090-730.html


https://www.passapply.com/c2090-730.html
2024 Latest passapply C2090-730 PDF and VCE dumps Download

QUESTION 1

Which of the following strings can NOT be inserted into an XML column using XMLPARSE()? 

A. "" 

B. "John Doe" 

C. "" 

D. "" 

Correct Answer: C  

 

QUESTION 2

Which authority or privilege is granted by the DB2 Database Manager configuration file? 

A. CONNECT 

B. CONTROL 

C. SYSMAINT 

D. EXECUTE 

Correct Answer: C 

 

 

QUESTION 3

Given the following tables: 

YEAR_2006 EMPID NAME 

1 Jagger, Mick 2 Richards, Keith 3 Wood, Ronnie 4 Watts, Charlie 5 Jones, Darryl 6 Leavell, Chuck YEAR_1962 EMPID
NAME 

1 Jagger, Mick 2 Richards, Keith 3 Jones, Brian 4 Wyman, Bill 5 Chapman, Tony 6 Stewart, Ian 

If the following SQL statement is executed, how many rows will be returned? SELECT name FROM year_2006 UNION
SELECT name FROM year_1962 

B. 6 

C. 10 

D. 12 

Correct Answer: C 
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QUESTION 4

Given the following two tables: TAB1 C1 C2 

A 11 B 12 C 13 TAB2 CX CY 

A 21 C 22 D 23 

The following results are desired: 

C1 C2 CX CY 

A 11 A 21 C 13 C 22 -- -- D 23 

Which of the following queries will yield the desired results? 

A. SELECT * FROM tab1 INNER JOIN tab2 ON c1=cx 

B. SELECT * FROM tab1 LEFT OUTER JOIN tab2 ON c1=cx 

C. SELECT * FROM tab1 FULL OUTER JOIN tab2 ON c1=cx 

D. SELECT * FROM tab1 RIGHT OUTER JOIN tab2 ON c1=cx 

Correct Answer: D 

 

 

QUESTION 5

Which of the following SQL statements will return the year and average salary for all employees hired within a given
year that have a salary greater than $30,000? 

A. SELECT * FROM t1 UNION SELECT * FROM t2 

B. SELECT * FROM t1 UNION DISTINCT SELECT * FROM t2 

C. SELECT * FROM t1 INTERSECT SELECT * FROM t2 

D. SELECT * FROM t1 WHERE (c1,c2)= (SELECT c1,c2 FROM t2) 

Correct Answer: B 
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